
->

stable comparison
· K / K0 =

w()c5] fin tot. ram. GR=Ga (c(K)
X:proper semist / OK.

Assume trivial divisor @ 8:Ar =Xk.

101, e.g. A =0n[x#,4, 92, 2,5.3/(91)) -5))
SpecAtr=SpecAR) PK, D =9Z,Z2 =0 3

-

#hm 5until GR-equiv. isom.

He (XTs, Gp) PapBst- HIk() PkoBst CuY,N

↓ ↓

Hi < " (BBAR & Hp(XK) DBdR ET).

Rank when non-triv div O, Xtr,ta in place of XI.

Lea Study LES

... -CHE(XxDBIR)/Fr +Hau(X0x, v) ⑭

-> CHi(x) @KBE)Y=
pr,N =0

->(HR(x1)PKBIR)/FT+.. .

via dim.BC sp's. + map.

ISODVR. v:tivlog.sr.v*.cn. .
10:log byN - V, 140.



CXu/Wacki)or:log-cry. site.
obj's:(U, M) * (T, Mi) epactcdimm.

+PD-str.a

*In Yoy.
JXn/NC:PD-ideal U:(Xn/Wulcr ->Net.

· RT (X, J(3). = =RT(Xdt, RussMNT rt div prov
RTu( ") = =holimn ("In

· (X,r(n i
=[RTun(x, jiy, PEY, RTa (Xn)]
= [RTa() lycul RTw(In A RTuIX, O/5irS]

· RT(XOn, jir) & RExn(XOn, v) similarly.

#m RTGn(X0x.r)x
="IR(X) @koBT]PY,N

=0

dR, (RTdm(Xk)@<Bdr) /Fr]
⑭i

=RTm ( XR / w()) a.
· In:RTP (X)

->RTR(XX)
↑
Kato map S

RTR(XK)/FM =RTw(X, 0x/OR/Jmi) a.
InE RTU (X, Oxcwin/5m) a

rPP =5Edifone:Gi <w(k).n
N(X0) = - Xo, log. str. gen. byXo.



jo: r -> W(0, X0NO, IW:r8 -OR, XoH*

jo*:RTW (X/rP) a ->RTNk(X)
7:Section 3: RTF(X) +RTm (X/UP)m

Pwork's trick

-
Owns RTH(X) -RTw(X / UIP)M.

=>Hyodo-Kato map

LOR:RTFD(X) -RTm(X/r)* FRTm(X/0F)@
&RTdR(Xx).

· RExn(X, r)a =TRTu(x)aNYRTu(XIa BRTan(a)/Fr]
① RTW (X/rP).," RTw(X/v)

a0RTc(Xk)/E#C T ↓N 1 - qr+ ↓ (N, 0] IRTW (X/rpP)R -> RTW (X/rpP)R

OF FRTH(X)
EN.4(m) RTN(X) FRTan(XK)F

IIN1fr ↓
N

RTHR(X) -> RTnx(X)

9:dist. A RTa(X) ->RTm(X/rS @ RTu(X/rEP)

HRR (X) EY, HER(X)
② :

↑

rPDuti(Ne, RsHik(x)



vent. maps induce isom. on Ker(p"-e) &cokm (p-3).

=> RTsin2X, r)a =[[RTFk(x(JPPr,N=0mRTam(x() /Fr]
#linson:RTAvia exof (4,N)- mod's,

#orar-Niziol:geometrizing above. (k +F) > tM

#m RTGn(X0x.r)x
-"[IR(X) *No BT]

Pr,N =0

R, (RTdm(Xx)@kBdr) /Fr]
East H((RTsR(K) PIBTan)/Fr) 1 Hn(Xe) PUBIm /Fr
(bydegen. of Hodge-de Rhum spectral seg.).

y=pr,N =0
· H[RT(X) PROBSJe:N,N= &CHE(X) 0x.BT):
For (9,N) - God M / ko.

ofCMPRBI)
Y:1
-MODAT IF MOKBEO

exac

& IfNCM 1 =0.

o -> MDcBE-MORBA1, MPKBE +0. exact

=>

32dim.BC sp's.

Fin. dim. N.:DimI =(dimI,kN)
=(d, dimapV,-dimapVeS



o
+vz
-

0 +v, +Y +N
+
+0

"IX
0

· f:In, -NC

=>DimN. =Dim Kerf +Dimlmf, DimMc =Dimluf +Dimcokerf.

Eact (1) dimI =0 => H+ I I0.

(2) f:N -We ler(f)(C) &coker() (C) fin. /PP.

=>dimIN, =dimI2

(3) W2:succexti of N's W, < IWa

=> ht N, 20.

(4) W2.:succ ext' of N's f:(n, -Ie.

keelf) (c) fin. /Qp dimIi =dimIe f sUrJ,
· D =CDst,DdR, X) Dst:(4,N) -mod/ko.

Dan:fil. mod / 1.x:Dst-DdR Ko-lin.

** (D) =(E" (370( Ds)
9=1, N=0

x*m(D) =(E/BIPkP<R)/0
· If ENDAR =0 & V Islopes of4 (rD):=min. such v).

Dim XB(D) =(ndimpoDst - tN(Ds), dimkBst)

Dim Nx(D) =(r dimkDax-th(Dda), 0)
· If v zv(D) & K**PS* Dam,

NSTCD): =Ker (ASD) A) M*R(D)) Indep of.



Fifth:NCC) -Dan isom. & tr(Dan) =toP).

C) TFAE:(a) Vs(P] fin. / G

(b) X*(D) +X*(P) sig. for Er(D) ((b) r =r(D))

Cond's in CD) impty:
(2) dimapUs(D) =rk(D).
(3) D is whyadms.

pf) CD Follows from Fact (4).

(3) If 5 D'CD Set. (NCD') < GHCD')
.

Then for asso

dim Nst(D') 7 1. => * (a)
⑭

#rop) Given D:=(D5, DIn, x) for each isset. DiR =0.
Sps for each 2, have LES

... -firr) -> X*CD") +Xn(D) ->H** (r) +...
where Hir) fin. /epitis. Then:

C) X:K*40D5 = DFi.
(2) Dis whyadmsVi.

(3) 0 ->Hir) -> XF(D") -X(pi) +0 exactif EN

pt) Urxo, dimX(DF) =dim Xx(DT) byFact (2).

=> dimkoDs=dimpDIm, t(Di) =to(D").

C) D' : =(m(x") a DVR, coler(As(Di) -XR(DT)) -> X*(P*/D)



Ifrsit), coken (2) -> H**(r) fin. / Q.
=>pi =p'.

(2) By(1) & Lem
-

.

rCDI) <i.For her, I =>

ofFich) -> X(Dis +X*(D:) +0 exact. * (3).
⑭

5.FM map

· A:stale / 0n[XF , ..., Xat, Xan,..., Xaib] / (at-..Nath- EY)

R =AGR =Gal(RIt]/ RIT3)

EPPU:log- PD enval. of Ra in ANCR). *R

RESP i=EPPDAn RR
-

z,
pr- pe

xEM:SynCR, Mn =[FrRPP -> e]
-> p(- p-yCCGR, JEEP- SETandI

ICCGR, [FrAmCROn EB Am(R),JS

FrAnCESn EUREDDn CCGn, 2(p(r)(
0+2p(r)-FAm(R)

YAmCR)to exact
m

pacr[(p(n), a(r) =2



#mIf Ihas enough roots of unity, at is p-equal
Laz

for coust. C indupof K.to Xrin

ten diagram chase:KOS(Y, d) IkoSC, LeTR) bos(3,Tr(
I CCTR) F? SCGR)

· Jom;itsheat' of(U ,X) HRTq (U,2n
2:x*4 X, 1:14 X.

at:X(r)x -(*Rjx2/pu(r)'Xk.
#or X:base change of semistscln /0i, for some KICK.

Sps I has enough roots of unity. i IV. Then

atMn is p--gisom, for some Cindipof K.

pt) A:loc, chartof X as before.
AU:p-adic hersel ofA.

HYCSyu (A,r)nS MHICGAh, 2/pucu') -> HYCA"[BJet, 2//pur)
11 ↓ It

HiSyn (A,r(n) IM HICANS 2/M(H)OHCATAJ,2squ
&m Elkik's algonthm. KIE,1 -em. (Scholze)

·

I
is a-isom. byrigid GAGA:

Fe(AY) -GA"[AS)
fiber toin DC2170.7↓

(OA-EC



Xaffine anal. of proper
base change (Gabbr).

⑪I

=> op2 For Uzi, Hin(X0x, r) nHE(X7, @N).

Prop 1 (i=0) & Prop 2. =Thm,


